

If timey  $\phi \text{ as parameter}$   $f(x_1, x_2, ..., x_n; x_n) = g(t, 0) \cdot h(x_1, x_1, x_n)$ (5) Sufficiency det 21, 22, - An be independent pandom observations from a normal population with Intrown mean from known variance 52. Ihm the joint purbability during function of A, , A, An  $f(\lambda_1,\lambda_2,\dots,\lambda_n;0) = \prod_{i=1}^{n} \left[ \frac{1}{\sigma \sqrt{2\pi}} e^{\frac{1}{2\sigma^2} (\lambda_i - \mu)^2} - \frac{1}{2\sigma^2} \sum_{i=1}^{n} (\lambda_i - \mu)^2 \right]$   $= \frac{1}{\sigma \sqrt{2\pi}} e^{\frac{1}{2\sigma^2} (\lambda_i - \mu)^2}$ We can write  $z(xi\mu)^2 = \left(\frac{\pi}{z^2}(xi-\bar{x}) + (\bar{x}-\mu)\right)^2$  $= \sum_{n=1}^{\infty} (n - \overline{n})^2 + n (\overline{n} - \mu)^2$  $f(x_1, x_2, \dots, x_n; 0) = \frac{1}{(\sigma \sqrt{2\pi})^n} \left[ \frac{m}{2\sigma^2} (x_1 - \mu)^2 \right]$   $f(x_1, x_2, \dots, x_n; 0) = \frac{1}{(\sigma \sqrt{2\pi})^n} \left[ \frac{m}{2\sigma^2} (x_1 - \mu)^2 \right]$   $f(x_1, x_2, \dots, x_n; 0) = \frac{1}{(\sigma \sqrt{2\pi})^n} \left[ \frac{m}{2\sigma^2} (x_1 - \mu)^2 \right]$ 

## I is a sufficient estimator for $\mu$ .

## Marinum Likelihood Estimation (M2E) L > Methro

-> Method of

(Point estimation)

population with p-m-f or paf ) f (x;0) involving a parameter O.

For a fixed 0, the function can be written as  $f(x_1, x_2, ..., x_n; 0) = \prod_{i=1}^{n} f(x_i; 0)$ 

Twis is known as likelihood function of or and is denoted by L(0).

The puinciple of maximum likelihood engasts vs to take that value of the which LLO) is a ominimum.

$$\frac{d L(0)}{d \theta} = 0 \quad \text{and} \quad \frac{d^2 L(0)}{d \theta^2} = 0$$

Cx: 1. r. . . . mei der a set of n Bernoullian ferials

The pin-f of Bernonti Dishitution is

$$\int (x_i; p) = \begin{cases} x_i & (1-p)^{1-2i} \end{cases} ; x_i^{2} = 0, 1.$$
So the Likelihood function is
$$L(p) = p^{\frac{2}{12}\pi i} (1-p) \qquad \qquad \boxed{1}$$
Log on both sides,
$$\log_{10} L(p) = (\Xi \pi i) \log_{10} p + (m - \Xi \pi i) \log_{10} p = 0$$

m, 
$$\frac{2u}{p} - \frac{m-2u}{1-p} = 0$$

or, 
$$(1-p) \in \pi_i - (n- \in \pi_i) p^{=0}$$
  
or,  $(1-p) \in \pi_i - (n- \in \pi_i) p^{=0}$   
or,  $p = (n- \in \pi_i) p^{=$ 

If Suppose  $(\pi_1, \pi_2, \dots, \pi_n)$  is a grandom sample from  $\text{NI}(\mu, \delta^2)$  where both  $\mu$  and  $\sigma$  are unknown, we want to find maximum likelihood estimates of  $\mu$  and  $\sigma$ .

the Likehhood function is
$$L(\mu, \sigma) = \frac{1}{\sigma \sqrt{2\pi}} \sum_{i=1}^{\infty} (\pi i - \mu)^{2}$$

$$L(\mu, \sigma) = \frac{1}{\sigma \sqrt{2\pi}} \sum_{i=1}^{\infty} (\pi i - \mu)^{2}$$
thun the log-likehhood function can be expressed as,
$$\log_{2} L(\mu, \sigma) = -n \log_{2} \sigma + n \log_{2} \sqrt{2\pi}$$

$$\log_{2} L(\mu, \sigma) = -n \log_{2} \sigma + n \log_{2} \sqrt{2\pi}$$

For estimate of 
$$\mu$$
, we require  $f.o.c.$  as,

$$\frac{\partial \log_{\ell} L(\mu, \sigma)}{\partial \mu} = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} (\pi_{i} - \mu)^{(-i)} = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} (\pi_{i} - \mu)^{(-i)} = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$
or,
$$\frac{\partial}{\partial \sigma} = \frac{1}{2} \sum_{i=1}^{m} \pi_{i} - \pi \mu = 0$$

We have to find m.d. e for  $\delta$ ,  $\delta$ . o.e sugarras,  $\frac{\partial \log_{\theta} \mathcal{L}(\mu, \delta)}{\partial \delta} = 0$ or,  $\frac{m}{\delta} = \frac{1}{2} \left( (-\frac{1}{2}) \frac{\mathcal{E}}{\delta} (n_{1} - \mu)^{2} \right) = 0$ or)  $\frac{\mathcal{E}}{\delta} = \frac{1}{2} \frac{\mathcal{E}}{\delta} (n_{1} - \mu)^{2}$ or,  $\frac{\pi^{2}}{\delta} = \frac{1}{2} \frac{\mathcal{E}}{\delta} (n_{1} - \mu)^{2}$ the sample variance  $\frac{\pi^{2}}{\delta} = \frac{1}{2} \frac{\mathcal{E}}{\delta} (n_{1} - \overline{n})^{2}$ the sample variance

 $\frac{1}{\sqrt{n}} = \sqrt{\frac{2}{n}} (2n - x)^2$   $\frac{1}{\sqrt{n}} = \sqrt{n} = 2nnp = 2nnique e$